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���	�����������	�����������	����In this research, we studied the effects of the application of a���	�	��
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����∋−�������
��������	��������)���� the behavior of strawberry fresh bare 
root plants cv. “Primoris” grown in greenhouses. Starch levels, in roots and crown tissue, of ABA treatment plants did not 
present any increase in the starch reserves level comparing with Control plants. Moreover, we found that the factor which 
most produced an increase of the reserves level of strawberry fresh bare root plants was the delay on the dig up day in 
nurseries. There was no correlation between the amount of starch in plants and their commercial production. The ABA-125 
treatment reduced the number of failed plants, compared with his Control. However, delaying in the plantation date this 
effect was not noticed. The early plantation (Control treatment) resulted in the lowest production parameters during most of 
the study period. This is the reason why, in case of implementing an early plantation, it is advised to apply some treatment, 
ABA or pinolene, which demonstrated an increased production parameters. On the usual dates of plantation in the Huelva 
province, from the 11th to 31st October, we did not register any production differences between the applied treatments and 
their respective Controls. 
�
�
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�� ��Φ�����2� �∀��������������������1��)������1������� ������������−�������Β� �����������
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��������� ���33,Φ����∗��−�� ��������������� ��������������������� ��%������∀��∀��������

���������!�� ������1��Φ��������� �∀���������;����� ��Υ�5� ;�∀�Γ������∆���∀�����Φ��33,Η��
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 �1� �������9��������� � � ����∀��∀�Κ������∀���������������� ���∗��∀���Γ��1�����(Η�∆����∀�����∀����∀�
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��;Β� �∀�� �Φ������������������� ��������� � � ��������������� ��� �������∀�������∀� ��������Φ�

 �1� �������������� �������ΒΦ�Κ������� ��Κ��������������∀�Ν��������∀��∆�Κ������������������ ��

∀�∀������∀� ����∀���������������∆���;��∀����∀������� ���� ����∀���−��−��∀��������������������

 ����∀���∀��∀� ���������� �1� ������������� �����������Ε�� �������∀Φ����∀�������∀������Φ�������

Β���� ��%��������

�∀�������������Κ������� ��∀������� ����������Κ��� ����∀��∀������∀��∀��∀�−�∆����∀�� �Φ�

 �����������������������Φ�∀����� �∀���1�Ε�∀������������∀�∆��������� ������� ���∗�������� �Φ�

�������∗��� ���������Β��������������������9������������������������∀�������� �∀�������1�−� ����∀�

�����∀���;��∀���������∀Φ�������∀�∆����;���∀�Γ&��∀Φ��3.ΑΗ�∋����������∀�������∀� ��������∀� ��∗��∀���

 �1���∀�����∀����� ������ �∀�∆������� �∀������ �∀� Γ���−Φ��3.3ΗΦ� �������2∀������������∀�Κ������
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������∀� ∀��� ������� �∀Φ� ������� �∀� �� ��� �����Ν�Φ� �������� �∀� ����� ��������� ��∀� −�Ε�∀� ∆�

���∀�∗������∀Φ� �9���� �∀� ��� ����Ε�∀Φ� ��1��∀� �∀Φ� �������� �∀� ��� �2����∀� ∗��9��;∗���∀� ∆�

����∀����� �∀�����∀�Β���∀� ����� ��������%�1����������Φ��∀��������∀��∀�������Β�����!()(.�−���∀�
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�����∀� ���∀� ��� ���∀������Φ� ��� ����� �∗����� ��� ������  �� ��∀����∀� ������� �∀Φ� �∀������������  ��

���� ��Φ����∀���������∀�∀������� ����� �� ��∀����������������∆��������� ��Ν∀����

��∀������∀� ���∀� �∀� ���� ��� ����������� ���������  �� ∗��∀��� ���� ������� ∗��∀��� �� ��;Β�
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�����1��9�Φ����∀�����1�∀�����∀������Ε�∀Φ�����∀�����∃�

) �∀�9������������������∀�� ��∀��������� ����∀�������∀Φ�∀��∀�������Β������ ���� ������Ε��

 ����∀���∀��∀��

) ���������������Β������ ����� ����∀�Κ�;����∀��������� �∀��∗������� ���∀����� ���������Φ����

��� ����∀����∀�������∀����∀�1∀�����∀��

) �� ����� ��� �∀��Ν∀� ������� �� ���� ��� ���∀������� ��� ������������ ���� ��∀� ������∀� �� ��;Β�

 �∀�� ���������

) ∋����������������Β������ �������������∀������� ������������∀�������∀�������∀������Φ�����

���∗��� ����Ε����������� ������ � ���������� � � �������� ��������
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��������∀�����������Γ
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�������Ε�� ������9��Γ0�#����������!55?Η��
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∗��∀��� Γ��1��9�∀� ∆� %�Ζ�� Φ� �3.(Η�� 
��� �����Β��� ���9�� ���� �∀���∀���� ��� ��∀� �������∀� ∗�∀�∀�  ���
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�∀��1�����������Γ��1��9�∀�∆�%�Ζ�� Φ��3.+Η��
�����1��9�Φ���������Β�������∀����Χ����∀� ���9��Φ����

���������� ��∗���∀� ������9���∀�∀�������������Γ=��9�������Φ��335Η��

���� ����� �∀����1��� � � ���9����������� �1�Ε�� ����������Φ�������������������� �������;Β�

�����������9�����������Β���������∀���∆�1�Ε�∀Φ��∀������� �����∀;���∀�∀� �������∀���9��� ���∀� ���

�����������Φ������∆�� ������0��ΓΩ��9−�Φ��3ΑΑΗ��

0�Ε�� ��� ������∀� ������� ���������∀��������Φ� ��∀�������∀��∀�2���<���∀��∀� ������∀��Ν∀�

����∀������� ��∀�Κ�;�Φ� �����∀��1�Ε����� ������∀�������∀� �����9��Γ��∀Μ����Φ�!55.Η��� ��2∀Φ����

1�Ε�� �1∀������� ���9������ �� ��� ����� ����� Ν∗�����−; ����� ���������� ∆� 9����Φ��� ��� �� ���

�������∀���� �����Ξ∀−��ΜΨ� �����∀��������
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��∀�������∀������Β���∀�������+Λ� ����9���Κ����1∀��1��������∀�������������Φ��������∀�Κ���
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��� ������∀�2�� �∀���∀���2�� �∀Φ�∀��∀��∀�����∀��������9���� ���� ��Γ&�∗��−Φ��33ΑΗ���∀��∀���∗��∀�
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��� �∀��1�����������  ��� ��������� ��� ����������� ∗������  �� ����)����∀�������∀� �∀� ���� −�����������

������� ��������������9�������� ���������∀��������Φ�∆��Κ��Φ��∆� �����������������∀�� ��−; �����
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 ���∀−��Μ� �����∀�������∆���Ε���������∀��1����������� ����∀�−������Β�∀��
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Κ�;����∀� ����� ��� 2�� �� �1∀�;∀���� Γ�0�Η� ∆� ∀�∀� ��2��9�∀Φ� ��∀� �����∀�  �∀���� ����� ��� �������
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����������Φ�∆��Κ��� �∀����∆�������Ν� � �� ���9��� ����∀�−�Ε�∀��	�����∀����� �Φ� ���∀�������
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∀������Β� �� ����∀���;��∀��

∋�2������������� �∀���∀��Ν����∀�∀������Β���∆�����∀��������0��������Ν∀� ��������Φ�������

�;�� ∗������ ����� <������ Γ������� ∆� Θ���−Μ�Φ� �333Η�� >∀���  �1�� ��������∀�� ��� ���� �����

�����������������������������∀�∀��Ν����∀� ����Φ��������������∀����∀����� �������������������� ��

−�Ε�∀�Γ	�  �∆�	����∀Φ��33?Η�

��∀� �∀����∀�  �� ��∀� ������∀� Κ��� ������� 1�Ε�� �∀��Ν∀� −; ����� Γ��� ���∀��������Φ���∆���
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∆����∀����� �����%!�������� ����∀��∀����∀�Γ8−��9�∆�	����∀Φ��335Η�

0�Ε��������∀���� ������∀Φ��������������� ����0�����1�Ν����� ������� ������������������

 ����∀�1����∀�ΓΩ���∀������Φ��3.�Η�∆��������������∀����� �������Β��������������������������������� ��

��∀����∀������∀������∀�������∀�Γ��∀Μ����)������∗∗�Φ��33!Η��� ��2∀Φ�����∗����� ����0���∀���∆���∀��
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−; ������� ��� ���
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 Ν∗�����−; ����� ����∀�−�Ε�∀����∗�������������;�����−� ��∗�1�������� � ��� �����−�Ε��Κ�������������

��∀�∀������������ �∗�∀���� ��������� ���9���Γ	���������������Φ��3Α(Η��

��� �� �� ����������  �� ������� �∀� �� ����� ��� ��� ��������� �∀���2����� ∆� ��� �Ν� � ��  ��

����∀��������� Γ∋�������� ���Φ� !55(ΗΦ� ∆� �∀;���Ε����� ��� �∀�� ��−; �����  �� ��� ������Φ� �� ����� �� ���

����−���Β�∆�����1∀��∀���� ��−�Ε�∀�Γ���Β∀�−��������Φ��33�Η��

�∀�� ��∀� �����Β� �∀� ���� 0��Μ�Ζ��Β� ∆� ��1��� Γ�3..Η� � �� ����� Κ��� ��� �����������  �� ����)

����∀�������∀� ��� �� ������������ ��� ���������� −; ����� ∗�����Φ� ∀������������� ∆� ��� ��Ε���

��� �������������∀���2�����∀� ��������������∀������ �∀��

&��������∀���∗��������∀�������������;��∆����Κ����∀������� ����� ����� ����1∀������� ��

�����Φ� ��������������� ����∀�−�Ε�∀�∆��������∀���������Γ6�∗��)
∆������Φ�!55,Η����∀�����∀����∀� ��

����Φ� ���2��<��� ����2∀�����Κ���∀��∀����������∀�−�Ε�∀���� ���������Β������1�Ν������Ν� � �� ��

�9��� ������������������� �∀��������� �������� ����������∀���2�����∆���������∀;���∀��Ν� � �∀�����

����∀��������Φ������� ������� ���������−���Β�∆��1∀��∀���� �����−�Ε��Γ∋����������)&�!55(�Η�

����∀����∀�∆���1��∀� ����<��∀�−���������� ��Κ�����∀�����)����∀�������∀�∀����∀����2�� �∀�

�����∀���������∀� �� �����∗���∀;���∀�∀�����∀�����������Φ������∀;������ ������� ������Ν� � �� ��

�9����∀�1���∗����∀��ΓΩ��−����Φ�!555Η��
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��∀�����∀��<���������∀∃����������� �����∀�9����Κ�����∀�������∀�∗��∀��∀�� ��∗��∀�������;Β� �∀�� ��

−�∆�������� �����������∆������� ����9������������∀� �����∗��−�� ��������� ��∆����������������

���������Κ����∀��������������<�9���� ���0�� ����9�������∗������������∀�����������∀�9�� ������
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���� ��� �1Ε����  �� �� ��� � �������� ��� ���∀�������  �� ������∀� ∗��∀��∀�  �� ∗��∀��� �� ��;Β�

 �∀�� �Φ�∀��1�∀�����Ε�������∀���� ������∀� ��������������9���������������������� �����#��Κ���

∗�����Β���������∆��������9� ��∆���������������9�������Φ����∀�9���� ����������������� �������

�����∀������∀� �������������∀����9�∀���������∀�∀�∗��−�∀� ��������� �������Β���������∀���������

∗����� ���� ���∀���∀��;������ ��������������������Β������ �����∗����Φ�−�������∀���∀�∀����� ����∀�

������∀�∀����2∀�����∀��

���∀�9���� �� ���� �� �� �∀��� ��� � ������� ��� ��� ����������Β������  �� ��� ∗����Φ� ���

���������∀�������∀��������∀���∀�∀� ����������#����∀�������∀��2∀�����∀��

∋������∀�9������Φ�����1Ε������ ������1�Ε��∗�������������∀��∗����∀� ����∀������������∀� ��

�0������������Γ����∀� ������∀������Η�∆� ���������)����∀��������∗;∀����Γ∋�������Η�∀�1�����������9� ��

∆���∀������� �∀�������� ����∀�������∀Φ�������Ν∀� �∃�
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− 	������������������� ����∀����∀��������������� ��������� �� ����∀�������∀� ���������Φ�

������� ��������� ����������������∀�������∀� ���ΒΧ����∀�∆����� ��Φ����������∀�∆���;��∀��

�

− ������∗���������Χ����� �������∀Φ�������∀��1������������������������������∀� �∗������∀�

�����������∀� ∆�  ���������� ∀�� ��9����  �� ����∀� ���∀�9��� ∀������� ��∀� ��� ������∀�

�∀���∀����∀� ������∀���������
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− ����∀�� ��� �� � ������������� �� ������ �������������������� ��∀� �∗������∀������������∀�

������ �∀��� ������ �∗������∀����2�����∀∃��Χ����� ��∗����∀�����������∀�����������Φ�
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��1�∀�∀�������Β�����∀���∀��∀�������∀� ��∗��∀���∆���∀���∀��∀������������∀∃�

�� �∀�� ��� �� ������ �����������������∆� ��∀������∀� ������������� ����2�����∀� ��∗��∀���

∀����� �∀��� �∗������∀������������∀Φ��������∗��� �����∀�9������������������� �������∆�

�� ���������Χ����� ��������∀�������∀��

�

!� ��2��∀�∀� ����∀�������∀� ������ ��Φ������∀� �∗������∀������������∀������� �∀Φ������������∀�

������∀Φ�����������∀���;��∀� ����∀���2�����∀� ��∗��∀��Φ�������������∀���� �� ����������

����Κ���������������∀�����∀�9��������∆��������� ������ ��Φ�∆��Κ���∀�����∀� ��������

�� � �� ������� ����∀���∀����∀�Κ�����������������������

∋�����≅(���−�������

∋��������������Α∀����∀� ����=����������

��������������9����������Β� ���������<�������������∀�∀�������������∀�∗��∀��∀� ��∗��∀�����

��;Β�  �∀�� ��  ��� ���� Σ∋������∀ΣΦ� �����������∀�  �� ��� �������  �� ������� ∀���� �� ��� Ι���� �Φ�

����������	�����Γ,Ας��,Σ�,!ΣΣ��Φ�!ς�+.Σ�(!ΣΣ��Ο����������5Α�Η���


���∗����������5������������∀∃�

− �������∃�
������9Χ��������������

− ��������Β�)∃�
������9Χ��������������∆������� �∀��5� ;�∀� �∀��Ν∀� �����������

− ��������Β!)∃�
������9Χ��������������∆������� �∀�!5� ;�∀� �∀��Ν∀� �����������

− ��������Β∋)∃�
������9Χ��������������∆������� �∀�,5� ;�∀� �∀��Ν∀� �����������

− (�������∃������������� ∗�������������� �∀�������� ������������������������������� ���

�ΛΦ��∗����� ������∀�Α�∆�!�� ;�∀� �∀ ����������������

− (��������Β�)∃�������������∗�������������� �∀�������� �������������������������������

 ����ΛΦ��∗����� ������∀�Α�∆�!�� ;�∀� �∀ �����������������
�������������5� ;�∀� �∀��Ν∀� ��

∋��������

− �5���!<∃�������������∗�������������� �∀�������� ��2�� ���1∀�;∀������������������������

 ���!+�����4���∗����� ���+� ;�∀�����∀� �����������������

− �5�� �!<� Β�)∃� ������������ ∗������ ���� ����  �∀��������  �� 2�� �� �1∀�;∀���� �� ����

�������������� ���!+�����4���∗����� ���+� ;�∀�����∀� �����������������
�������������5�

 ;�∀� �∀��Ν∀� ���0���!+�

− �5���&)∃�������������∗�������������� �∀�������� ��2�� ���1∀�;∀������������������������

 ���35�����4���∗����� ���+� ;�∀�����∀� ����������������

− �5�� �&)� Β�)∃� ������������ ∗������ ���� ����  �∀��������  �� 2�� �� �1∀�;∀���� �� ����

�������������� ���35�����4���∗����� ���+� ;�∀�����∀� �����������������
�������������5�

 ;�∀� �∀��Ν∀� ���0���35�
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Η�  �� Ξ
∆�9����� 1������_ΨΦ� ���� ��� Κ��� ∀�� ����� Κ��� ������ ��� ������� ���

�������1��� � � ����∀���� ����∀�∗���∀��������∀�������∀��1�Ε����∀��

���������������∆����−��� � ���������� ������ ���������� ����∀����9�∀������� �����������

 ��������� �������������Γ/�9��������∆���!Φ����Ε���Η��

	���	����∋�������!���������

	��������� ����������� ����������∀����9����������∀�������������������∀�2� ���Γ1�∀� �����

������������ �������������∆�&�∀∀����Φ��33,ΗΦ���∆�������∀��������� �����∀����������1���!�?�����

����� � � �� ∀�������������� ��∀������������� ����������Χ����� �� ���9�∀Φ���� ����� �����1�����

∗������� ������� �������∀��������� ����Φ�∆���� �������� ��Ν∀��∀Φ����������∀���Ε�∀��1����������������

����������� �� ����Ε���������������∀�������∀� �∀�� �∀��

��∀���������Ε�∀� �� ����Ε��∀���������������������������+)!+Λ��∋��������Φ�∀�������������������

���9�� ���� ������������Φ���������∀����Χ����∀� �����9�������� �∀��������∀� �� ����Ε���	�����∀���

�� �Φ� ∀�� ��������  �∀� �������∀� ∀�������∀�  ��� �%� ∆� ��� ��� ������ � � ��Ν������Φ� ������  �� ���

∀�������������� ����������� �� ����Ε�Φ������������1���������������� ����∀�∀���∀�������∀�∀�������

∋���8��(��7�����∀��∀�� �� �∀�

	��������∃��(����������!
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��������� ��� ;��.� �������� ��!5�(������Β�������∀��−���∋�����������9� �� ��∗����∀�∀��

�����Β����� �∀���∀�∀�∀�������∀��

��∀�∗����∀�∀�����������1����������������∋�∀�����������Φ�∀��∀�����1�����������9��;�∀�

Γ��1���,�!Η����∗������� ��������∀����������� �� �∗���������∀�∆� �����∀�Φ������Β�� ������12∀�����

&���������� ��∋�,55�)
Φ��1����Ν� �∀����∀�∀�9������∀����2�����∀∃�

− �Χ����������� ��∗����∀�∆� ��∗����∀�����������∀�������� �∀�������������

− ∋�∀�� �������� �������������∆������������������ ��������������

− ∋�∀���� ��� ����∀�∗����∀� ����� ������������������������ �������������Γ94∗����Η���

− ∋�������Ε�� ��∗����∀��Χ���������������∀�∀�1��������� ��������������
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�� ���−���� ���1������ ������ ����������������� ∆�����Χ����� �� ∗����∀�����������∀�����

������� ∀�� −��� ���� �� ��� ������� ��∀������∀�  �� ����������� ��9�∀��� �∀� −�∀������  ;�� !)�!)�Φ�  ��

�������Κ�����∀� ���∀������Β� �∀�∆�Κ���∀�����∀����������∀���1��∀������∀��� ����������� �������

�� ��� ����∀�������∀�∀������������∀Φ����Κ�������������������∗����� ����∆��� �∀����1��� � � ��
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��∀������������∀����������∆����������⊥�5�∀��������������9���� �∀�������∀� ����������∆���������

⊥�5���∀������������Φ�∆��Κ�������������������������������∀��������� �∀��Ν∀� ���������������Φ�����

���Κ�������∀���������Φ������������∀���2��9�∀�����∀� ������������

	���� ��������������∀���������Φ���� ;�� ��∀������������Φ��+�������∀Φ� ��� � �∀�������∀�

�����������∀� ��+���

�����∀�������∀� ���� �������������∀����∀�����������∀���;��∀������9���������������������������

��∀���∀��∀� ��∀�∀������Κ��������1���� −��� �∀����������������Φ��∆� 2� �∀�� �����∀���Ε���∀Φ�∀��

���������∆�������������∀���;��∀�����������∀��
�����Β�∀����� �∀� ��−�∀���;��∀Φ�∀���������������9���

 �∀���� �Φ�∀��∀������������������1∀��1�����∆�∀������������∀��∗��∀���	�∀��Ν∀�∀������� �Ε��������

1��∀�∀� ����2∀������

∋��� ����� �����Φ� ��∀� ������∀� ∀�� �������� ���� �9��� ���������� ����� ��������� ��� ∀���� � �

� −��� ��∆�∀��∀������������������1∀��1������
������������ ����Χ�����������∆�∀���1����������∀��

∗��∀������������������Φ��������∀���1��� �∀�∀���<���Ε���������� ����������� ���� ������ ������∀Φ�∀��

����������∀��∗��∀���Γ�����������������������Η�∆�∀������� �Ε������������1��∀�� ����2∀������

��∀� 1��∀�∀�  �� �� ∀�� ���������� ��∀� ��;��∀� ∆� ����� ��∀�  �� ��∀� ������∀� ∀�� ��������� �� ���

���9��� �����).5ς�Φ������∀����∀����������∗���Β�������

∋�!�!��	������������� ���ΓΦ����∀����������∀�

���∀� ��� ���9��������  �� ��∀� ���∀���∀Φ� ��∀� ������∀� ∀�� ∀�����  ��� ���9��� ��Φ� �����

���∗���Β����∀Φ� ����������∀Φ� �������∀� 1���� ���Κ���� �∀� ��� ∀�∀� ��∀�������∀� 1���∀� ∆� ��∀������������

��������∀������9������


��∀�������∀�1���∀�������∀����∀���∀� ������9��� �������9�Φ�������∀������∀�������������

Γ.5ΛΗ�������1�#��Γ&�&&���Η�∆�������������∀������������������� ��Α+ς����∋���������9�����∀�

��∀�1��∀��Ν� � �∀� ����∀��ΒΧ����∀���9�����∀������������∀�� ���<���������∀�������Β��2������∀�������

�ΒΧ�����������Φ��������������������� ��,5�94���Γ,555�9� �������∀������55��� ���9����βΗ��

��������������Φ�∀������������∀�������∀�������� �∀���������1�� �������;∗�9�Φ��#� ��� ��

!��� ����������Κ���∀��������������1�#����Α+ς���� ��2∀Φ��#� �����∀����� ����1��5�!���� �����

 �∀�������� �� �����∀���/�����Β� �� �������������� ����1�∀� �∀��������∀� ∀�� ��9����2������9��� ���

��Ν��������Θ��&
�,�1�∀����


��� ��Β� �9��� �∀Φ� ∀�� �������� ��∀� ��1�∀� �5�������∀� ��� ��� 1�#�� ��Α+ς��� ��� ∗�����Β��� ���

�������∀��∀����2�� ���1�#��∆���∀��2����∀���������∗�9� �∀�,5�������(+55�����������∀�1���� �����

∀����∀������1�∀�∀��� �����Γχ]�.���Η�������∀� ���∀��� ��∀������9��9�����!��� ���������Γ.5ΛΗΦ�

������Ν� �∀����������∀���!�����∀��2∀Φ� ��∗�����Κ������∗�������� ����∀���������1��∀��� ������?���
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�������� ������������� ������� ����

�

��� �;Κ�� ���1���� �� �� ��∀����∀��<���������∀� ∗���������� ��������;�Φ�������������� ���

∀��� �������++ς��−�∀����1�����������∀� ���∀��� �� ���ΒΧ����∀���∀�����∀� ���∗��� �∀��������������

 ���9����β�Κ���������������∀��−��������� ��������1�#����Α5ς�Φ������∗������������ �∀��������∀��

�9������������9��� �����Ν��������Θ��&
�,�1�∀��������;Κ�� ���1���� ���∀����∀���������1������� ��∗�

Γ&�Θ���!5�%�����−�8�����∗�9��Η� �������!5�������∀����!555��������

�

∋��� Χ�����Φ� ∀�� ∗������ �� �� ����� ��∗� ���� ∗�����∀�  ��χ]5�(+�δ�� ∆� ������−�∀� �)�.�� ��∀�

������−�∀��)�.�∀����������−���Ν� ���∀���∀��Φ�∀���∀���������+���� ����������∆�+���� ���9���

�β���∀�����∀����Ν�� ��∀�������Β��2�������������������∀���∀�∗�����∀��������∀�������−�∀�∆���∀� �∀��

������∀����∀������������������� ������������Β������%∋��Φ��������∀�������∀�����∀�����2�������
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�������Β�������∀����Ν�� �������� �������� ������������� ���ΒΧ����∀����������∀Φ�����

��� �∗�������� ��Κ������;���������� � � �����∀���������Β� ������� ����∀����

∋�!�8��	������������� ������ ������������∀�0���Α��∀∃�

��������∀�� ���������������∀������∀��������������∀�∆���;��∀���


��∀�������∀���1�∀����������∀� ���Κ����1������∀��������������������������� �������������

 ���ΒΧ����∀��������������∀���∀��#� ���?���� ���9����β����� ����1�Φ�∀������������������1���� ��

��9� ���∆������� ����������Φ������2� �∀���������9�� ������

���9�� �����∀���������������∀���1�∀����������������� �������!−��������∀����∀��2� ����!)��+�

1���∀�����<��� ������Φ���������∀�9������������������� ���,5ς���
�����Β�∗�����Β� ������������

∀��∀���� �������������∆�∀��������� �������� ��∀���1�∀Φ�∀��Κ����������9� ���∆�������������∆�∀��

������∗�9�����∀���1�∀� �������!5�������∀���(+55��������

�

���9�Φ�∀��∀����� ��∀���1�∀� �������������∆����� ����∆� �� �����������9���∀�∀��Κ��������

∀�1���� �����∀���� ����1��−�∀��� �Ε�������;Κ�� ��������������� ��!�����
���#� ������� ����1��

5�!���� �� �����∀��� �∀�������� �� �����∀�� Γ,5�94��Η������Β� ������� ��∀��ΒΧ����∀��� ��2∀� �∀��

�#� ��2� �� �� �� ��1�� �� ���  �� ��� ∀��������  �� ��Β���� �����	�
��
���
��  �� ��������������

�5�?�94��� ���9����β�∆�5�+���� ���;Κ�� �����������∋%�(�+���∆�������∀�������∀∃��
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∗����∀Φ�∆��Κ������ ���������������2∀���� ;�Φ���������⊥,5Φ�∀�����∀�9���� ��∀���∆���∀�������∀� ��
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